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CURRENT EVENTS    

Source: for annual review of major events of 2015 are The Economic Times, 

The Financial Express and The Business Standard. Objective Questions for 

Practice have been created by www.10x10learning.com and the site has its 

copyright.  Many questions have more than four options to choose from, 

because the questions are also a means of including all relevant information on 

the event for purpose of revision.  A few current events have merely been given 

as information, without converting into objective question. 

     

1. As per Indian Meteorological Department a ó normal monsoonô  means: 

a) Rainfall between 96 % and 104% of a 50 year average of rainfall 

which is 890mm.   

b) Rainfall between 106% to 109 % with mean of 970 mm 

c) Rainfall between 90% to 96%  

d) None of the above 

 

2.  In 2015, there was the first twin monsoon failure in a decade, with both 

south west monsoon and northeast monsoon being deficient. Which of the 

following have been the worst failures since 1901 : 

a)  In 1918,  with 25% deficiency, 

b) In 1972 with 24% deficiency 

c) In 2002 with 19.2%  deficiency 

d) In 2009 with 21.8% deficiency.  

e) All the above. 

  

3.  Which of the following is the full form of the abbreviation óECCô? 

a) Environment Compensation Cess 

b) European Currency Control 

c) Environment Control Commission 

d)   Environment Control Conference 

 

4.  Luxury diesel cars and SUVs with  Diesel engine capacity of 2,000cc were 

in news recently because 
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a) The Supreme Court banned the registration of such vehicle in the 

entire NCR region till 31, March 2016, and thereafter extended 

the ban period. 

b) The National Green Tribunal declared a pollution tax to be 

imposed on such vehicles 

c) The Supreme Court has imposed a one- time pollution tax on 

such vehicles 

d) Production of such vehicles has been stopped internationally 

 

5. Polycyclic aromatic hydrocarbons (PAHs), emitted mainly due to 

incomplete combustion, are an extremely toxic group of 100 chemicals 

a) These were found to be óvery highô at 80ng m3 in Delhi in 

December 2015 

b) The levels drop to about 15 ngm3 in summer months 

c) These had declined after  adoption of CNG in 2001 

d) All the above are correct 

 

6. Which of the following are óflex fuel ócars Ethanol cars 

a) Those that use both petrol and up to 100% Ethanol  

b) New engines known as E100 that will use 100% ethanol in place 

of petrol  and ED95 that will use 95% ethanol in place of diesel 

c) Both the above. 

7. According to the Central Pollution Control Board (CPCB) ôs report titled, ó 

Continuous Ambient Air Quality Monitoring (2011-15),which of the 

following is the biggest source of air pollution as in 2016: 

a) Gases such as Nitrogen dioxide (NO2) Sulphur dioxide ( SO2) 

b) Particle matter (PM10) such as road dust, construction dust, coal fly -

ash, biomass and waste burning. 

c) Gases such as carbon monoxide (CO) and benzene emitted by 

transports.  

d)   Industry and domestic sources. 
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8. As in April 2016, which of the following has / have recognised the third 

gender after Supreme Court verdict of April, 2014, that called on the 

government to ensure  third gender equal treatment: 

a) National Pension System 

b) Indian Passport since 2005 

c) Life Insurance Corporation of India in  2016 

d) All the above 

 

9. Which of the following statement(s) are true with respect to the Reserve 

Bank of India:  

a) Set up in 1934, the RBI became functional in April 1935.  

b) In January 1938, it issued the first notes.  

c) Burma broke away from the Indian union in 1937, but the RBI 

continued to act as the central bank for the country through the 

Japanese occupation and later up to April 1947.  

d) RBI was nationalised in 1949.  

e) All the above 

 

10.  From FY 2016-17,  the Price Stabilisation Fund of Rs. 750 crore, for 

government intervention to stabilise prices of agricultural commodities, is 

managed by :  

a) Department of Expenditure 

b) Department of Consumer Affairs 

c) Department of Agriculture and Cooperation 

d) None of the above 

 

11.   In January, 2016, the 119
th
 birth anniversary of which national leader was 

celebrated:  

a) Netaji Subhash Chandra Bose. Prime Minister Modi declassified 

the first set of 100 files pertaining to the founder and leader of the 

Indian National Army in the presence of his family members. 

b) B. R. Ambedkar. Prime Minister released a compilation of the 

works  of Baba Ambedkar published by Government of India 

c) Pandit Saverkar, founder to Rashtriya Sewa Sangh 
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d) None of the above. 

 

12.   National Eligibility and Entrance Test (NEET) has been made mandatory 

for admissions in which of the following: 

a) All Medical Colleges across the country 

b) All Engineering Colleges across the country 

c) Only Central and State Government Medical Colleges 

d) Only Central and State Government Engineering Colleges  

Additional : As in January 2016, only one out of 10 foreign returned 

doctors qualify to practice in India. 

 
 

13. Which of the following is correct with respect to  the Nairobi meet of WTO 

in December,  2015  :  

a)  Failed to reaffirm Doha Development Agenda 

b)  All countries agreed to the elimination of agricultural export subsidies 

with a longer phase-out period for transportation and marketing export 

subsidies. 

c)  India negotiated a ministerial declaration which recognises that 

developing countries will have the right to seek recourse to Special 

Safeguard Mechanism for agricultural products.  
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d)  All the above. 

 

14.   In 2015, the price of Brent crude  fell to the lowest level of: 

a)  $26 a barrel 

b) $ 30 a barrel 

c) $ 40 a barrel 

d) $ 20 a barrel  

                                                                                                     

15.   Which of the following countries is not a member of BRICS   

a)  Brazil, 

b)  Russia,  

c) India, 

d)  China  

e)  South Africa 

f) Canada 

 

16. Among the following which  State has NO tiger population:  

a) Karnataka 

b) Uttarakhand 

c) Madhya Pradesh 

d) Tamil Nadu 

e) Kerala 

f) Maharashtra 

g) Assam 

h) Uttar Pradesh 

i) None of the above 

17.    Which of the following is NOT among the 13 Tiger Range Countries: 

a) Indonesia 

b) Malaysia 

c) Russia 

d) India 

e) None of the above 
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18. Kuno tiger sanctuary, that is the home of the rare white tiger is in the state 

of: 

a) Uttar Pradesh 

b) Madhya Pradesh 

c) Andhra Pradesh 

d) Arunachal Pradesh  

 

19. Which of the following states do NOT have Bovine Mithun species: 

a) Arunachal Pradesh 

b) Manipur 

c) Mizoram 

d) Nagaland 

e) None of the above 

 

20. National Highway 7 stretch cleared to pass through the Pench Tiger 

Reserve is between:  

a) Nagpur and Jabalpur 

b) Nagpur and Durg 

c) Jabalpur and Durg 

d) None of the above 

 

21. Under the `Namami Gange' programme, surface cleaning of Ganga has been 

started in                          

a) Haridwar and  Garhmukteshwar, 

b)  Kanpur and Allahabad,  

c) Varanasi and Patna,  

d) Sahibganj and Kolkata,  

e) Nabadwip and Gangasagar 

f) All the ten above.  

22.  Which of the following is correct with respect to Summer Olympics    

(August 5th -21
st
, 2016) in Rio de Janeiro in 2016, is the first to be held in 

South America  

a)  161 men's events, 136 women's and 9 mixed events, a total of 

306 sports events, for which 10,500 athletes from 206 countries 

will compete. 
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b) Sportspersons from 203 countries will compete in 300 

competitions. 

c) Sportspersons from 195 countries will compete in 306 

competitions. 

d) Sportspersons from 203 countries will compete in 306 

competitions. 

 

23.  Potassium bromated and potassium iodate,  said to be a potential 

carcinogens,  are used  in which of the following food items :  

a) White bread that is a popular breakfast  

b) Maggie noodles 

c) Fast foods such as pizza 

d) None of the above 

 

24.  Which of the following the correct full form of DIET :  

a) Distributed, Intelligent, Empowering Technology  

b) Japanese parliament 

c) Diet food for reducing weight 

d) Only (a) and (b)  above   

 

25.  Which of the following is NOT among the top five countries with highest 

number of women smokers:  

a) India    

b) Russia   

c) Brazil   

d) USA    

e) None of the above 

 

26. Which of the following pairs were the Democratic Party candidates, for 

primaries for nomination of Presidential candidate for 2016:  

a)  Hillary Clinton and  Bernie Sanders  

b) Donald Trump and  Ted Cruz,  

c)  Marco Rubio and Jeb Bush 

d) Hillary Clinton and Donald Trump 
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27.  Which among the following was NOT one of the 16 cricket teams in the 6
th
 

ICC World Twenty20 held in India from March 8th  to April 3
rd
 , 2016  

a) Scotland,  

b) Ireland, 

c)  Oman, 

d)  Afghanistan, 

e)  Hong Kong 

f) Netherlands 

28. The chief guest for the Republic Day 2016 was: 

a) President of France 

b) President of Holland 

c) President of Brazil 

d) President of Denmark 

 

29. The first Indian women shuttler to enter the final of the All England 

Championships, the first Indian women shuttler to be ranked number 1 in 

the world and also the first Indian to enter the final of a World 

Championships in 2016 is: 

a) Saina Nehwal   

b) Sania Mirza 

c) Both the above 

d) None of the above 

30.    Which of the following section of Information Technology Act has been 

scrapped as impeding the citizens' right to freedom of speech and 

expression  

a) Section 66A 

b) Section 66 

c) Section 66 B 

d) Section 66 D 

31.  óIsle of Calmô launched its first longest festival on beach, in December 

2015.  The beach  is located in 

a) Goa 
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b)  Daman and Diu 

c) Lakshadweep Islands 

d) Andaman and Nicobar Islands 

32.   The total number of member countries in the European Union is 

a) 19 

b) 29 

c) 20 

d) 21 

33.   The Gold Monetisation Scheme 2015, aims to 

a)  Curb gold imports 

b) Bring down Indiaôs  current account deficit 

c) Both (a) and (b)  above 

d) None of the above 

 

34.    During April 2015 to January 2016, Indiaôs gold  imports  

a)  Increased from $ 27.42 billion to $ 29.36 billion 

b)  Decreased from 1000 tonne to 800 tonne. 

c)  Did not change significantly 

d) None of the above 

 

35.    Government of India is creating a óNational Business Registerô by 
allocating a 16 digit number to each business in every district. This move 

will:  

a) Strengthen assessment of economic activity by accounting the 

smallest of business establishments 

b) When completed it will place India in the group of Canada, 

United Kingdom, and Hong Kong that have a similar register 

c) Both (a) and (b) above.  

d) None of the above 
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36.     Which of the following is correct with respect to  Parliament of India  

a) Its foundation stone was laid in 1921. 

b) It was inaugurated in January 1927  

c) It was constructed at a cost of Rs 83 lakh 

d) All the above 

  

37.  Pravasi Bharatiya Divas which has been celebrated in January, for the past 

13 years, was in news in 2016 because: 

a) It was  rescheduled 

b) The event was being moved to different states every two years 

c) A smaller event would be held in Delhi every alternate year 

d) All the above 

 

38.   The largest consumer of gold in the world is  

a) India 

b) China 

c) United States of America 

d) None of the above 

39.    How many cities have been finally included in The Smart City Mission 

for the year 2015: 

a) 33 cities and towns 

b) 30 cities and towns 

c) 12 cities and towns 

d) 25 cities and towns.  

(The first twelve of these include Chennai, Coimbatore, Dindigul, Erode, 

Madurai, Salem, Thanjavur, Thoothukudi, Tiruchirapalli, Tirunelveli,  Tirupur, 

Vellore.) 

 

40.     Which of the following sets of countries have been directly impacted by 

the Panama Papers episode of April 2016, politically or economically:  
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a) UK, Iceland, Argentina, USA, Germany, India.  

b) Russia, UK, Panama, Caribbean Islands, USA, Germany 

c) Brazil, Argentina, UK, Iceland, Panama, Switzerland 

d) USA, Russia, Iceland, Argentina, Germany. 

 

41.   Which of the following is referred to in the Government of Indiaôs concept 

of ó Blue Economyô and ó Blue Revolutionô ? 

a) Sagarmala Project that seeks to develop 7,500 km of Indiaôs coastline 

with eight major ports, 27 industrial clusters with rail and road 

connectivity.  

b)  To Indiaôs 1,300 islands and 280 lighthouses that can be developed 

to boost Export Import trade.  

c)  Building connecting highways from Delhi to Katra, Lucknow, 

Meerut, and Jaipur and Hyderabad to Mumbai JNPT , Bengaluru , 

and from there to Chennai.  This is expected to boost the rural 

economy through internal trade. 

d) Encouraging Start ups in e commerce to provide development 

through innovation.   

42.   Indiaôs first container expressway is being constructed in the State of: 

a) Gujarat 

b) Maharashtra 

c) Tamil Nadu 

d) Madhya Pradesh 

e) None of the above 

43.   The acronym POEM stands for 

a) Place of effective management  

b) Poem in classical literature 

c) A form of literary creation 

d) None of the above 
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44.   What is the correct value of Indiaôs  economy as in 2015-16 

a) $ 2 trillion 

b) $10 trillion 

c) $ 20 trillion 

d) None of the above 

45.  In World production of Steel , Indiaôs position  is 

a) Third,  with a 2.6% rise in 2015 to 89.6 million tonne 

b) First,   with more than 50% of world steel output of 1.6 billion 

tonne  

c) Second,   with a 2.8% decline in production. 

d) None of the above 

 

46.   Indiaôs estimated exports of tea in 2015,  was 215 million kilogramme. 

The per capita consumption of tea in India is 733gm. India exports tea to 

which of the following groups of countries: 

a) Kazakhstan and Russia,  

b) US, and Latin America 

c)  China , Iran and Egypt 

d) All the above 

47.    The last meeting of World Trade Organization was held in December 

2015 in  

a) Nairobi 

b) Doha 

c) Qatar 

d) Geneva 

48.  Russia has agreed to build four warships for the Indian Navy in: 

a)  Pipavav shipbuilding facility in Gujarat 

b) Vishakhapatnam shipyard in Telangana 

c) Tuticorin shipyard in Kerala 

d) Leningrad Shipyard 

49.   Out of the following pairs, select the water intensive crops : 

a) Cotton and sugar cane 

b)  Wheat and maize 
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c) Gram and peas 

d) None of the above 

50.   India has just 4% of the world's water resource, with 18% of the world's 

population. 

51.  The measurement unit of digital data transfer rate in media and computer 

is:  

a) Mbps or megabits per second  

 

52.  Question on Indian months can be in the form of stating the festival that 

falls in that month. As such, major festivals are indicated here for 

information.  

53. 

Indian Names of months

JANUARY 
TO 
JUNE
Uttaraayan
from 14th

January to 
21st June

JULY  
TO
DECEMBER 

Dakshinaayan
(22nd June to  
21st December/
13th January) 

Month Major Indian festivals

1. Magh Mahakumbha (every 12th year),
Makarsankranti, Pongal, Republic Day

2. Phalgun Holi,  Mahavir Jayanti,  Good Friday,

3. Chaitra Start of Indian calendar on Chaitichandra
occuring between 21st March to 31st

March

4. Vaishakh Ramnavami, Bhaishakhi, Bihu,

5. Jyeshth Buddha Jayanti

6.Aashadh Jaganath yatra,  Ramzan, Eid

7. Shravan Vyaspurnima, Rakshabandhan

8. Bhadrapad Krishna Janamashtami, Ganesh Utsav, 
Onam

9. Ashvin Durgapuja,  Dassehra, , Eid, 

10.Kartik Deepawali , Gurupurnima

11. Margshirsh

12.  Paush Christmas, New Year

  Which of the following statements is true with respect to CAD of India:  
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a) For the first time in nine years, Indiaôs Current Account Deficit 

(CAD), in January March 2016, had a surplus of $ 3 billion 

(0.6% GDP) . 

b)  In the last quarter of October December 2015, India had a deficit 

CAD of $ 7.1 billion (1.3 % of GDP).    

c) Both (a) and (b) are true 

d) Only (a) is true.  

 

54.    Historical information available on the 105.602 carat Kohinoor diamond 

includes the following:   

a) It is first mentioned in 1306 as belonging to the Rajas of Malwa.  

b) In 1839, Maharaja Ranjit Singh died and left it to his sons.  

c) His three older sons were killed, and five-year-old Duleep Singh 

took the throne in 1843. 

d)  In 1849, the British won the Second Anglo-Sikh War and 

annexed Punjab under the Treaty of Lahore.   

e) The diamond was given to the East India Company after the Sikh 

War was  lost in  1849.   

55.   Government of India Schemes for women during the last two years 

include 

a) Beti Bachao, Beti Padhao 

b) Stand Up India support to women entrepreurs 

c) 5 crore BPL women to get LPG connections under Pradhan 

Mantri Ujjwala Yojana 

d) 1.92 crore toilets constructed and rural sanitation increased from 

42% to 52 %  

e)  4 lakh toilets for  girls in schools 

f) Mission Indradhanush privides immunization to pregnant 

women.  

 

56.   During 2015-16 India achieved a 7.9% GDP growth mainly due to 

a)  Falling subsidy bill and low oil prices during 2015-16. 
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b) Higher FDI in manufacturing and agriculture 

c)  Retaining of the Fiscal Deficit within predetermined limits 

d) None of the above 

57.  India is the world's largest arms importer, sourcing around 70% of its 

defence equipment from abroad. The aim is to ensure that 40% of the 

country's military hardware and software requirements are procured 

indigenously under the `Make in India' initiative, with the eventual plan 

being to ramp it up to 70% in the next five years.  

58.   In India the following ratio of digital population is now accessing the 

internet via mobile devices:  

a.  85%  

b.  50%  

c.  70% 

d.  None of the above.  

59.  Strength of the Indian Rupee compared to other currencies  

 

60.  There are 7,102 known living languages in the world, with Papua New 

Guinea (PNG) home to the maximum number (839), according to 
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Ethnologue. The table below ranks countries according to the total count of 

living languages used as a first language in that country... 

 

61.   Which of the following is correct about Prime Minister Narendra Modiôs  

visits to other  countries in 2015: 

a) He visited 26 countries in one year which is the highest number 

of visits, in 2015, and only one other country equalled it.  

b) He was the first Indian leader to visit UAE in more than 30 years. 

c) During these visits, the biggest deal signed was in August 2015 

between India and the UAE, to create a $75 billion fund to invest 

in Indian infrastructure.  

d) All the above are correct.  

62. Which of the following is not a Sunni led country : 

a)  Sudan 

b) Bahrain 

c) United Arab Emirates 

d) Iran 

63. Sovereign Gold Bond (SGB) scheme, which allows people to invest in gold 

without physically owning the metal, was launched in India in November,  

2015. 
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64. Prime Minister Narendra Modi introduced three gold schemes on 

November 5,  the Gold Monetisation Scheme, the Sovereign Gold Bond 

and the India Gold Coin. 

a) The Gold Monetisation Scheme aims to mobilise tonnes of gold lying 

idle with households and trusts and deploy it for productive use. This 

scheme can be treated as a success if it can mobilise even a part of the 

estimated 20,000 tonnes of gold hoard in India.  

b) By introducing paper gold, the Sovereign Gold Bond aims to reduce the 

demand for physical gold. RBI has already issued the first tranche of 

these bonds and it got a total of 63,000 applications for 917 kg of gold 

amounting to Rs 246 crore.  

c) The India Gold Coin will be the first ever gold coin with the Ashok 

Chakra. Initially, the coins will be issued in denominations of 5 and 10 

grams and will be sold through designated MMTC outlets.  

d) India spent  $176 billion for importing gold during 2004-2014. The first 

two schemes aim to address foreign exchange outflow by reducing 

India's dependence on gold imports. 

 

   

 

65.    High temperatures were experienced in December 2015 due to a freak 

depression that loomed over Iceland. Which of the following abnormal 

events occurred due to this:  
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a) pushed hot air as far as the North Pole where temperatures are at 

least 20 degrees above normal, at around freezing point 

b) In Canada, the Nunavut territory had temperature rise from the 

normal of minus 21 degree Centigrade to minus 4.6 degree.  

c) Baffin Island, known for its snow, experienced unheard of 

rainfall in December, 2015. 

d) All the abnormal events stated above occurred.  

66.  International Union of Pure and Applied Physics  announced recognition 

of discoveries of elements 115, 117 and 118. Element 113 sits between 

copernicium and flerovium on the periodic table. A team of scientists in 

Russia and the US  were vying for naming rights for 113 after announcing 

its discovery in 2004. Isotopes of element 113 have a very short half-life, 

lasting for less than a thousandth of a second, making its discovery very 

difficult. After twice succeeding to create it, the group tried for seven years 

before further success, in August 2012. 

67.  India, in Assam has a 224 km border with Bangladesh that has been 

ordered to be sealed within two years time to end infiltration. 223.7 km 

fence exists but 122 locations spread across 60.7 km are without physical 

barriers.  In 100 of  these covering 11.9 km physical barriers are to be 

constructed . In the remaining 22 locations in 48.8 km of riverine 

technological barriers are to be created by July 2017.  

68.       This will involve networking of equipments like high resolution 

cameras, radars, unattended ground sensors, optical fibres, infra red 

sensors, aerostats, hand-held thermal imagers and their integration with 

Command and Control architecture. A 4,374-kilometre fence, border roads 

of 5,329.6-km, 3,974-km floodlights and 2,420 Border out Posts (BOPs) 

have already been created.  

69.    50,400 gram panchayats have been connected with optical fibre cable. 

 

70.    In Jan Dhan Yojana Rs. 22 crore account holders have deposited Rs. 

37,616 crore, during 2015-16 

71.  VNOs are retailers of telecom services who buy bulk minutes from 

operators and sell them under a different brand. A VNO will be an entity 
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providing services such as mobile, landline and internet but only as a 

retailer for full-fledged operators, such as BSNL, MTNL and Bharti Airtel. 

Unified Licence VNO (UL VNO), 

72.     In 2015 , as per UN the number of refugees that sought asylum in various 

European countries due to war, violence, persecutions  and the five year old 

Syria Jordan war was:  

a)  Nearly 60 million 

b)  Nearly 30 million 

c) Nearly 50 million 

d) Nearly 40 million 

73.  The Hubble Space Telescope was launched by NASA into low Earth orbit 

in 1990, and remains in operation as in 2016. Telescope has captured an 

image of two galaxies merging into a single structure about 230 million 

light-years away. The image shows the galaxy NGC 6052, which was 

originally classified as a single abnormal galaxy. However, it is in fact a 

`new galaxy' in the process of forming. 

 

74. The  thrust areas of Modi Government are: 

a) good governance,  

b) employment generation,  

c) education and health,  

d) farmer-centric initiatives,  

e) innovative budgeting, 

f)  accelerated inclusive growth, 

g)  Swachh Bharat and  Ganga rejuvenation;  

h) Energy efficiency   ñproduct, process and deliveryò.  

75. Which section of Information Technology Act has been scrapped as 

impeding the citizens' right to freedom of speech and expression : 

a) Section 66A.  

b) Section 66B 

c) Section 60 A 

d) Section 60 B 
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76. The  Supreme Court of India passed a series of orders in 2015 to reinforce 

the rights of women who are despised by society for living an 

unconventional life, through judgements on the following:  

a) It ruled that an unwed mother must be recognised as a legal guardian 

of her child and she cannot be forced to reveal the name of the father 

or seek his consent to get guardianship of the child.  

b)  It held that an unmarried couple, living together as husband and wife, 

would be presumed to be legally married and the woman would be 

eligible to inherit the property after the death of her partner. 

c)  It also held that a woman was entitled to maintenance from her live-

in partner. 

d)  The court also expressed concern over women being used as 

surrogate mothers by foreigners and directed the government to ban 

commercial surrogacy.  

e) This prompted the Centre to roll back its 2013 decision allowing 

import of human embryos for artificial reproduction. 

77.   Entrepreneurship to be included in school curriculum in increase the 

contribution of micro, small and medium enterprises (MSME) sector, 

which compares as follows: in India from 17% of GDP. The countries with 

higher contribution are:  

a) 85% of GDP in Taiwan,  

b) 60% of GDP in China   

c) 50% of GDP in Singapore. 

d) 17% of GDP in India 

78.    An estimated 3.2 billion people (or 44% of the world's population) will 

have access to the Internet in 2016. About 306 million of these are expected 

to access Internet from mobile devices. Internet and Mobile Association of 

India (IAMAI).  

    India was expected to reach 402 million by December 2015, registering a 

growth of 49% over 2014. The combination of lower-cost devices and 

inexpensive wireless networks is making accessibility easier in countries 

with populations that could not previously afford them. 
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79.    India has the third largest internet user base in the world out of which 

more than 50% are mobile-only internet users. As smart phone penetration 

increases, 2016 could well be an inflection point for the ultra-competitive 

industry. The upcoming internet explosion will predominantly be catered to 

by smart phones to give a boost to mobile apps and value-added services 

backed by 4GLTE network technology, with local manufacturing a big 

focus area.  

80. Mandatory PAN indication requirements changed in 2015: 

 

 

81. China officially ended its one-child policy from January 1, 2016. It has 

joined a group of about 56 countries, representing a third of world 

population  that have policies promoting more population.  

        Like China, these countries are worried at an aging population and its 

effects that include a decreasing workforce and increased spending on 

pension and social security. Such countries include Australia, France, 

Germany  Iran, Israel, Italy, Japan, Russia, South Korea, Spain and Turkey .  
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                   There are about 34 countries and territories in the world with 

declining populations, including Japan, Spain, Portugal, Greece and several 

East European countries. 

 

82.  The first Bullet Train in India will be between 

a)  Mumbai and Ahmedabad  

b) Delhi and Mumbai 

c) Chennai and Bangalore 

d) Delhi and Agra 
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83. As in  January 2016, the following  is the international status:  

a) Total UN membership is of 195 countries, but 203 countries would be 

participating in the Summer Olympics in August 2016 .   

b) democratic form has been adopted by 122 countries, 

c)  monarchy exists in 27 countries.  

d) Other forms in the remaining   

e)  

84. Indian Scientists to focus on five `Es' Economy , Environment, Energy , 

Empathy, Equity. These are to be at the centre of ñenquiry and engineeringñ 

to make lives of people better. ñAnd, we must bridge the distance between 

traditional knowledge and modern science, so that we can craft local and 

more sustainable solutions for our challengesñ, the PM said in his address 

to the  103
rd
 Indian Science Congress in Mysore University. 

 



Current Events for all Entrance and Competitive Examinations 
with special reference to syllabus for  Civil Services (Preliminary ) 
Exam 

2016 

 

©10x10learning.com      Page 24 
 

 

 

 



Current Events for all Entrance and Competitive Examinations 
with special reference to syllabus for  Civil Services (Preliminary ) 
Exam 

2016 

 

©10x10learning.com      Page 25 
 

85. For three years in a row, horticulture beats growth compared to agriculture 

 

86. Of all new offshore R&D centres established in 2015 nearly 70%, were in  

a) India,  making it the No. 1 choice for global technology-led R&D,  

b) $12.3 billion or 40% of global engineering and R&D investments in 

2015 -flowed into India, versus $9.7 billion into China. 

c) Both, the above are correct. 

 

87.  Chinese travellers collectively spent a record $165 billion abroad in 2014, 

up 27% over 2013. The US was second with $111 b. China generates 13% of 

global tourism receipts, benefitting many destinations, particularly in Asia 

and the Pacific.  Therefore, India is trying to develop its huge tourism 

potential. Its ómedical tourismô has been rising since 1990s.  
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88. The seven Maharatna  Public Sector Undertakings  are  

(1) Bharat Heavy Electricals Ltd, 

(2)  Coal India,  

(3) GAIL (India),  

(4) Indian Oil Corp,  

(5) NTPC,  

(6) Oil & Natural Gas Corp and  

(7) Steel Authority of India Ltd.  

 

http://epaperbeta.timesofindia.com/Article.aspx?eid=31816&articlexml=Top-Spenders-Abroad-02012016008041
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89. Largest  petroleum producers : 

(1) Saudi Arabia (OPEC)                   12.7%  

(2) Russia (Non OPEC)   12.7%  

(3) US ( Non OPEC) 11.7% 

(4) Iraq (OPEC)                                  5.5.% 

(5) China (Non OPEC) 5.4% 

(6) Canada ( Non OPEC) 4.3% 

 

90. Largest petroleum importers: 

(1) Europe  8,974 thousand barrels / day 

(2) US ( Non OPEC ) 7,338 

(3) China (Non OPEC) 6,209 

(4) India ( Non OPEC) 3,809 

(5) Japan 3,383 

(6) Singapore 916 

(7)  Canada 600         

91.    Government of India has included Thalassemia and haemophilia in the 

list of disabled persons.                                                   
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92. The tectonic shifts have caused in the region:  

a) Manipur, 6.7 (2016),  

b)  Nepal, 7.3 (2015)  

c) Sikkim, 6.9 (2011)  

d) It has again ruptured plates that had already developed cracks 

during previous temblors.  

93. December 2015 was the hottest in the country since India Meteorological 

Department (IMD) started recording data 114 years ago.  

 
94.  
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95.  
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96.   India's consumption pattern of petrol and diesel is unlike that of developed 

countries such as the US and Japan. India's diesel-to-petrol ratio is almost 

4.5:1. Moreover, diesel has always been much cheaper than petrol... 

  06.01.2016 

97. To improve gender equality in the paramilitary by approving 33% 

reservation for women at the constable rank in two major central 

paramilitary forces , the CRPF and CISF and also setting a 15% quota in the 

border forces BSF, SSB and ITBP. These forces together comprise around 9 

lakh personnel of whom only around 20,000 are women as of now. 

 

98. Rural Market in India:  850 million consumers, 70% of total population, 

contributing half of GDP, per capital rural GDP has grown @6.2% since the 

year 2000. 

 

99. Indiaôs first space observatory was put into orbit on 28
th
 September, 2015.   

 

100. Himachal Pradesh would soon become an open-defecation free (ODF) 

state, after Sikkim.  The coverage of both States is 94.25% 

Continued in part 2 
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